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REDHEEFERTIGUIIIL-TDIF—8 (NFR)

X5 FIIREDIRE(HR) FRREOEE(M)

X i3 AT V=77 | BUUW-7° | CO°W-0° | DTI-2° | EXCIN-7° | AT W-2° | BI N-7° | CO°I-7° | DI A-0° | ET -7°
FE | ER 2 0 0 3 o 3,222 0 0 1,618 0
FiE |EENER 1 1 1 0 0l 1,695 1,361 1,511 0 0
FE | TRNER 0 0 1 1 1 0 0| 4,149 922 206
FiE |[BRNER 1 1 1 1 0ol 1,820 1,716 | 3,189 246 0
FiE | KINER 0 1 0 0 1 0| 3,468 0 0 1,162
FE |BANER 1 4 0 0 0 3,058 5,490 0 0 0
FiE | LEFNER 0 3 0 1 0 0| 6,684 0 383 0
FE|RLNER 0 1 1 0 1 0| 4,694 | 1,223 0 531
FE |BEITENER 0 0 0 2 1 0 0 0 5,064 748
FE | TFENER 2 1 0 1 0l 3,076 577 0 601 0
FiE |ELRANER 0 0 0 0 3 0 0 0 0| 8,547
FiE |ETENER 1 3 0 0 of 1,955 2,814 0 0 0
FE |SRNER 0 3 0 0 0 0| 5,617 0 0 0
FiE | TFREENER 0 0 3 0 0 0 0| 5,886 0 0
FiE |RNER 0 3 0 1 0 0| 4,217 0 1,257 0
FERG| 1 58K 8 21 7 10 7| 14,826 | 36,638 | 15,958 | 10,092 | 11,194
= JBE/NERR 0 0 2 2 1 0 0 1,480 3,710 592
= BHNER 1 1 1 1 0l 1,948 655 | 2,433 601 0
= BRI IVER 0 0 1 2 0 0 0 1,221 3,747 0
= RENFL 2 2 1 0 0of 1,910 5,380 577 0 0
= IR 1 0 2 1 0l 1,295 0| 3,104 725 0
= REE/NER 1 1 0 1 0l 2,099 1,159 0 1,258 0
= BINER 3 0 1 1 0l 2,956 0 1,221 253 0
= BRAR/ VAR 0 0 0 1 1 0 0 0 3,614 | 1,025
= RN 0 0 3 0 0 0 0| 5,518 0 0
RXET 9% 8 4 11 9 2| 10,207 | 7,194 | 15,555| 13,908 | 1,617
1t BRE/NEARR 1 1 0 0 ol 3,789 1,566 0 0 0
1t KALNER 2 0 0 2 0ol 2,225 0 0 2,635 0
1t BRINER 0 4 0 1 0 0| 5,026 0 1,959 0
1t AARNER 0 0 0 2 0 0 0 0 4,948 0
1t BILNER 0 3 0 0 0 0| 6,743 0 0 0
1t EIWNFER 1 1 0 1 o 2,732 2,761 0 725 0
1t AL NFERR 0 3 0 0 0 0| 7,038 0 0 0
1t INEPNER 0 0 1 1 0 0 0 1,219 1,943 0
1t F/NFARR 1 1 0 1 2| 3,210 1,170 0 1,040 1,392
1t S NFER 0 1 1 2 0 0 1,135 2,488 2,443 0
1t =AY 4 2 0 0 of 3,847 2,178 0 0 0
1t R NFERR 1 1 0 0 2 1,348 | 4,137 0 0 1,647
1t FEOREH PR 0 2 0 0 0 0| 4,144 0 0 0
1t FFNERR 0 2 0 0 0 0| 4,567 0 0 0
1t WMBNFER 0 0 3 0 0 0 0| 4,726 0 0
1t SHIVER 0 2 0 1 0 0| 5,787 0 649 0
1t JNFRNERR 0 3 0 0 0 0| 5,439 0 0 0
1t TNEBILINERL 0 3 0 0 0 0| 4,872 0 0 0
1t HNERR 0 0 0 4 0 0 0 0 5,939 0
JEXE 1 9k 10 29 5 15 4| 17,151 | 56,563 | 8,434 | 22,282 | 3,039
7 BNFR 0 0 2 1 0 0 0 1,776 2,083 0
7 RENFER 0 2 1 0 0 0| 3,265 597 0 0
[i] TEERNER 1 1 0 2 0ol 1,569 1,475 0 2,174 0
] TP/ NFEAR 1 1 0 2 of 1,412 1,274 0 2,166 0
] BENF 1 0 1 1 0l 3,105 0 784 729 0
[iz] HABS/NFERL 0 1 2 0 0 0 1,143 | 3,984 0 0
[iz] BRI/ NERL 1 2 0 0 of 1,617 1,918 0 0 0
7 FEPVINERR 0 0 0 3 0 0 0 0 7,399 0
7 FRENFER 0 2 2 0 0 0| 2909 3,750 0 0
[i] LI/ 0 0 3 0 1 0 0| 6,017 0 647
7 TFHRNER 2 0 0 0 0| 5,268 0 0 0 0
[i] FERINER 0 2 0 0 0 0| 4,448 0 0 0
[i] REFAVNERL 0 2 0 0 0 0| 5,327 0 0 0
7 TFEINER 0 2 0 0 0 0| 4,921 0 0 0




REDHEEFERTIGUIIIL-TDIF—8 (NFR)
X5 FIIREDIRE(HR) FRREOEE(M)

X i3 AT V=77 | BUUW-7° | CO°W-0° | DTI-2° | EXCIN-7° | AT W-2° | BI N-7° | CO°I-7° | DI A-0° | ET -7°
] FERFNERL 0 0 3 0 0 0 0| 4,883 0 0
7 FUNEF N 0 0 3 0 1 0 0| 4,883 0 741
7 TRTADINERR 2 0 0 1 ol 3,307 0 0 629 0
7 TRTINERDR 0 0 0 3 0 0 0 0 3,853 0
AXE 1 84 8 15 17 13 2| 16,277 | 26,681 | 26,674 | 19,033 1,388
AT | PANER 0 2 1 0 0 0| 3,026 2,512 0 0
AT REINER 3 0 0 1 0o 4,794 0 0 501 0
AT REFNER 1 0 0 1 ol 1,294 0 0 2,758 0
i |BEERINER 0 2 0 1 0 0| 4,906 0 919 0
AT | HNERR 0 0 0 1 1 0 0 0 1,928 | 3,877
FRAY | FREEH VAR 2 2 0 2 0o 2,503 | 3,054 0 1,402 0
it |BENER 1 2 1 1 0 671 3,761 703 260 0
it JERNER 2 2 1 0 of 1,561 3,046 1,210 0 0
it | 2ENER 2 0 1 1 0ol 1,926 0 1,268 1,038 0
A | TFRNER 1 2 1 1 0 964 | 2,015 1,860 1,163 0
AT |EERINER 2 1 0 1 ol 2,592 577 0 840 0
AT | FRFEINER 1 1 0 1 0| 3,441 1,266 0 234 0
AT |\ NER 0 2 1 0 0 0| 4,318 1,242 0 0
At [[FOHVNER 0 0 0 0 2 0 0 0 0| 8,152
PR |EE - RER 0 0 0 0 1 0 0 0 0| 13,365
hAiEt 1 54 15 16 6 11 4| 19,747 | 25,971 | 8,796 | 11,043 | 25,393
h BRI NFER 0 0 0 3 0 0 0 0 5,884 0
':F' SINER 0 0 0 4 0 0 0 0 4,841 0
h FRNER 0 0 0 3 0 0 0 0 4,644 0
h IREVINFERL 2 0 1 0 o 3,134 0 777 0 0
h TRBNER 1 0 0 1 0l 2,940 0 0 2,069 0
& THVINER 0 0 2 1 0 0 0| 3,123 727 0
h ENINER 2 1 0 2 of 1,560 2,463 0 946 0
h KREBNER 2 0 0 1 0l 3,029 0 0 1,495 0
h IEARNER 2 0 2 0 o 2,077 0 1,513 0 0
':F' FERNER 0 1 0 0 0 0| 3,116 0 0 0
':F' RN 2 0 1 2 0 905 0 490 1,940 0
FXET 1 1482 11 2 6 17 0| 13,644 | 5,580 5,904 | 22,545 0
BRF0  |EBE\ER 2 0 0 1 0| 3,064 0 0 919 0
BBF  |MRENVER 1 3 0 0 of 1,725 3,515 0 0 0
BBA  |[WENER 0 1 2 1 0 0 650 | 3,228 802 0
BRAD  |[MRSRNER 0 1 0 3 0 0| 2976 0 3,269 0
BRF0  |MEDERA/NVERL 2 0 1 1 o 2,227 0 1,642 1,255 0
BBA0  |[AEINERR 0 2 1 0 0 0| 2913 2,310 0 0
BBA | N\BNER 2 2 0 0 0ol 2,390 1,463 0 0 0
BBF  |BENER 0 0 1 2 1 0 0 1,945 1,699 216
BRFD |IERINER 1 1 2 0 0 1,940 746 | 2,882 0 0
BRFD  [SE)NVER 1 3 2 1 0l 1,843 1,918 | 1,055 1,016 0
BBA  |[RBYINER 0 3 0 0 0 0| 4,894 0 0 0
BN 1 14 9 16 9 9 1] 13,189 | 19,075 | 13,062 8,959 216
IntE  [IRE/NER 0 1 1 2 1 0 1,474 2,700 2,329 616
IntE  |EIRVNER 0 0 1 1 2 0 0 841 725 | 3,846
IntE  [JEE/ER 0 0 1 2 0 0 0| 3,328 2,375 0
IntE  [IHNER 1 0 2 2 0 744 0| 3,118 2,974 0
Intd  |[SHE/NER 1 1 1 2 0 656 | 1,872 | 1,232 1,309 0
IntE  [IAE\ER 2 0 1 1 o 3,597 0 1,240 725 0
Intd | HFRNER 1 2 0 0 0 1,058 3,766 0 0 0
IntE  [FRNER 0 0 4 0 0 0 0| 5,457 0 0
IntE  |[SR/NER 0 2 0 1 0 0| 3,699 0 1,933 0
IntE  [PRRANER 1 2 0 0 0 778 | 5,866 0 0 0
IntE  [PARNER 0 3 0 1 0 0| 5,036 0 236 0
IERE 1 14 6 11 11 12 3| 6,834 | 21,713 17,916 | 12,605 | 4,463
BHEH |[SENER 1 2 0 0 o 1,989 2,506 0 0 0
HE [EENER 0 1 0 1 1 0 1,065 0 400 | 3,293
BEH [FENER 3 0 0 0 0l 4,333 0 0 0 0




REDHEEFERTIGUIIIL-TDIF—8 (NFR)

X5 FIIREDIRE(HR) FRREOEE(M)

X i3 AT V=77 | BUUW-7° | CO°W-0° | DTI-2° | EXCIN-7° | AT W-2° | BI N-7° | CO°I-7° | DI A-0° | ET -7°
HE  [M75NER 0 2 2 0 1 0| 4,034| 1,881 0 238
#EH [BENER 0 0 1 3 0 0 0 1,219 4,747 0
HE |FINER 0 3 0 2 0 0| 4,456 0 1,289 0
HEH [ KRENER 0 1 0 2 1 0 595 0 2,409 | 2,081
HEAXG 7 8 4 9 3 8 3| 6,322 | 12,657 | 3,100 8,844 | 5,613
I JERNER 1 1 0 2 0| 1,684 230 0 1,660 0
| B INER 2 0 2 0 ol 2,573 0 1,642 0 0
I | BRVNER 0 0 3 0 0 0 0| 5,244 0 0
I N\RRINER 1 0 1 1 ol 1,794 0| 2,020 1,143 0
I |BRAASNEAR 1 2 0 0 0 262 | 4,963 0 0 0
I | BENER 2 1 1 1 of 2,751 2,332 771 792 0
| NER 0 4 0 1 0 0| 5,808 0 950 0
I FRFINER 2 0 1 1 0| 4,506 0| 2,984 793 0
I | IEENER 1 1 2 0 0l 1,018 652 | 2,996 0 0
I |EENER 1 2 0 1 1] 1,827 | 2,310 0 1,823 705
I | FRNER 1 4 0 0 o 1,369 4,799 0 0 0
I | ERNER 1 2 1 0 of 2,518 1,455 1,320 0 0
I |TFEFNER 1 2 0 1 O 1,844 | 2,467 0 1,804 0
Il | RRENER 2 0 1 0 0ol 2,602 0 1,231 0 0
I | FSINER 0 1 1 2 0 0 1,427 | 2,422 2,225 0
A B RINER 0 3 0 0 0 0| 4,973 0 0 0
I |BAIENERR 0 2 1 0 0 0| 5,386 400 0 0
I |RENER 0 2 0 1 0 0| 5,596 0 549 0
I [ FINNER 0 3 0 0 0 0| 3,912 0 0 0
I | EREINER 0 0 3 0 0 0 0| 5,058 0 0
I | EREINER 0 0 2 1 0 0 0| 4,401 936 0
I | BRI ER 0 0 3 0 0 0 0| 6,025 0 0
I | TRENER 0 3 0 0 1 0| 5,058 0 0 736
R |FERTENERR 0 0 0 3 0 0 0 0 4,288 0
HIIREH 2 482 16 33 22 15 2| 24,748 | 51,367 | 36,513 | 16,963 1,441
s SRR NFRL 0 0 0 4 0 0 0 0 7,747 0
s N 0 0 0 2 0 0 0 0 5,210 0
s RFINER 1 4 0 1 0 985 | 4,444 0 482 0
b3 FBTNER 0 2 0 1 0 0| 4,664 0 790 0
b INBREINERR 1 1 0 1 of 1,511 | 3,384 0 1,991 0
s S/ T 2 2 0 0 o 2,607 1,784 0 0 0
s BARNER 0 3 0 1 0 0| 5,180 0 750 0
s R/ VR 0 0 5 1 0 0 0| 5,458 1,449 0
s FBERINER 0 2 0 1 0 0| 4,563 0 725 0
s BRE/NFER 1 2 0 1 of 1,997 | 1,745 0 840 0
Vs BT/ N 0 2 0 0 0 0| 5,157 0 0 0
Vs FaANFERR 2 1 0 3 0 3,049 1,690 0 1,743 0
s RBNER 0 2 1 0 0 0| 3,609 782 0 0
P FFIVINER 0 2 1 0 0 0| 2,520 1,210 0 0
P HHVNFL 0 3 0 0 0 0| 6,112 0 0 0
s ERNER 0 0 3 0 0 0 0| 5,026 0 0
Vs FHETFNER 0 0 3 0 0 0 0| 4,926 0 0
s FEfRE/ VR 0 3 0 0 0 0| 4,831 0 0 0
Vs BRNER 0 2 2 0 0 0| 4,567 1,437 0 0
Vs BENER 0 0 0 4 0 0 0 0 5,949 0
BXET 2 08 7 31 15 20 0| 10,150 | 54,248 | 18,840 | 27,676 0
3] SHNER 1 0 2 1 1] 2,412 0| 2,278 740 751
3] BRVE/NFAR 1 4 0 0 0 1,685 5,875 0 0 0
E] ML VEAR 1 1 1 0 O 1,946 1,254 2,949 0 0
E] BEIKNERL 1 1 1 1 o 2,067 1,768 660 725 0
E] T NFAR 0 1 2 0 0 0 1,120 | 3,844 0 0
3] BV 2 1 1 1 o 3,756 2,136 1,044 1,021 0
3] FFINER 2 1 2 0 0l 2,065 980 | 3,109 0 0
3] KRENFER 1 2 2 0 0 689 | 2,375| 2,264 0 0
3] KIRNERR 0 2 0 0 0 0| 4,115 0 0 0




REDHEEFERTIGUIIIL-TDIF—8 (NFR)

X5 FIIREDIRE(HR) FRREOEE(M)

X i3 AT V=77 | BUUW-7° | CO°W-0° | DTI-2° | EXCIN-7° | AT W-2° | BI N-7° | CO°I-7° | DI A-0° | ET -7°
] FEIER 0 1 2 1 0 0 812 | 4,128 725 0
3] BENER 1 2 0 1 0 877 3,859 0 583 0
3] FINFR 0 2 1 1 0 0| 3,650 1,699 919 0
3] SEHVIVERR 0 1 0 3 1 0| 2,213 0 1,514 | 1,587
3] BEINFER 0 0 0 0 3 0 0 0 0| 7,052
] EIRNER 1 2 0 0 0 2,49 | 2,760 0 0 0
3] HFHE/NFER 0 3 0 0 0 0| 4,342 0 0 0
3] SERINER 0 2 0 0 0 0| 4,686 0 0 0
3] EREIVER 0 0 0 3 0 0 0 0 7,186 0
RXE| 1 84 11 26 14 12 5 17,994 | 41,944 | 21,976 | 13,413 | 9,390
ST | RRRINER 1 2 1 1 ol 2,321 1,462 | 1,516 375 0
ST N NERR 1 1 1 1 o 3,727 | 3,628 640 305 0
ST |SPLNVERR 1 3 2 0 0 1,418 5,005 818 0 0
ST | HEFERINVERR 0 2 1 0 0 0| 5,252 586 0 0
ST | BRERNER 0 2 1 1 0 0| 4,298 521 930 0
ST |EEERINER 1 1 0 1 1] 3,738 | 1,540 0 951 660
ST |EEBRERNER 0 0 0 0 3 0 0 0 0| 7,764
ST |EERRANER 0 2 2 1 1 0| 2,563 1,863 972 | 1,284
ST | EBRINVER 0 2 0 0 0 0| 5,511 0 0 0
ST | AR BNV 0 2 0 0 0 0| 5,473 0 0 0
ST |EAINER 0 2 0 1 0 0| 4,524 0 1,250 0
ST | RFHEINER 0 3 0 0 0 0| 5,879 0 0 0
ST | TIRNVER 0 2 0 0 0 0| 4,804 0 0 0
ST |RREFRNER 0 0 3 1 0 0 0| 4,179 446 0
ST |BREENER 0 0 3 1 0 0 0| 4,816 405 0
ST | NER 0 0 0 3 0 0 0 0 5,379 0
ST | RFRILNERL 0 0 0 3 0 0 0 0 5,356 0
ST IV NVEARL 0 0 0 3 0 0 0 0 5,351 0
ST | ERRINER 0 0 0 0 4 0 0 0 0| 7,718
ST | FREERRNER 0 0 0 0 3 0 0 0 0| 7,345
SHURE) 2 0 4 24 14 17 12| 11,204 | 49,942 | 14,939 | 21,719 | 24,772
i IS8/ N 1 2 2 0 of 1,399 3,930 2,560 0 0
i TFINER 0 2 1 2 0 0| 2,448 963 914 0
i ISBERED N 0 2 1 2 0 0| 2,120 1,198 3,057 0
i RENER 1 0 1 2 1] 1,385 0 835 2,834 482
i ISF/IVER 1 0 0 1 1] 2,363 0 0 767 | 2,241
i BIVINVER 0 3 0 0 2 0| 5,285 0 0 1,248
i RE/INVER 0 2 1 2 0 0| 2,821 1,849 1,878 0
i RNERR 1 1 0 1 of 2,552 1,210 0 851 0
i FIINVER 0 3 0 1 0 0| 5,272 0 590 0
i FEINVER 0 3 0 0 0 0| 5,066 0 0 0
i AFINER 0 3 0 1 0 0| 4,740 0 262 0
53 MBHVINERR 0 3 1 0 0 0| 5,007 831 0 0
53 HEBNER 0 3 1 0 0 0| 4,860 1,161 0 0
53 BRNER 0 3 1 0 0 0| 4,108 425 0 0
i FHDB/NFERL 0 3 1 0 1 0| 4,219 1,081 0 906
i RIBE/NER 0 4 0 0 0 0| 5,995 0 0 0
i HRIRRV AR 0 3 0 0 1 0| 6,228 0 0 636
i HRR/INVER 0 0 3 0 0 0 0| 5,175 0 0
53 HELLNERR 0 0 2 0 0 0 0| 6,065 0 0
i FAPE/VEAR 0 0 3 0 0 0 0| 5,801 0 0
53 KEALNER 0 0 1 2 0 0 0 1,360 2,899 0
i NI 0 0 0 4 1 0 0 0 5,797 | 1,729
53 TBENFER 0 0 0 2 0 0 0 0 6,064 0
i B KINER 0 0 0 2 0 0 0 0 6,993 0
i KIBRINER 0 0 0 3 2 0 0 0 6,214 | 1,285
i BRIIVER 0 0 0 0 4 0 0 0 0| 5,850
= ININERR 0 0 0 0 5 0 0 0 0| 7,839
i ARODRI/NVERR 0 0 0 0 5 0 0 0 0| 9,107
#RXET 2 84 4 40 19 25 23| 7,699 | 63,308 | 29,304 | 39,122 | 31,323




REDHEEFERTIGUIIIL-TDIF—8 (NFR)

X5 FIIREDIRE(HR) FRREOEE(M)

X i3 AT V=77 | BUUW-7° | CO°W-0° | DTI-2° | EXCIN-7° | AT W-2° | BI N-7° | CO°I-7° | DI A-0° | ET -7°
2R |EEINER 0 3 2 0 0 0| 5173 2,542 0 0
ZR BN ENER 0 3 0 1 0 0| 5,735 0 432 0
2R |BWINER 2 2 0 1 ol 3,370 1,674 0 577 0
R |EFENER 0 4 0 0 0 0| 5,018 0 0 0
2R |EEINER 2 2 0 0 0 2,184 | 3,461 0 0 0
2R |BELNER 2 2 0 0 1| 4,471 | 3,195 0 0 1,284
BER |BRNER 0 4 1 0 0 0| 5,531 634 0 0
BR|BRVNER 0 2 0 0 0 0| 5,097 0 0 0
2R |ERNER 0 5 0 0 0 0| 6,201 0 0 0
BER|RPNER 0 0 2 0 0 0 0| 5,864 0 0
2R |ENER 0 0 4 1 1 0 0| 4,980 752 321
R | EHNER 0 0 2 0 0 0 0| 5,433 0 0
ZR |ENENER 0 0 3 0 0 0 0| 4,610 0 0
ZE |5IWNER 0 0 3 0 0 0 0| 5,456 0 0
BER|RENER 0 0 4 0 0 0 0| 5,394 0 0
2R | FHNAENER 0 0 3 0 0 0 0| 5,156 0 0
ZER O |RILNER 0 0 3 0 0 0 0| 5,996 0 0
ZER | HNER 0 0 0 3 0 0 0 0 5,455 0
R |BORNER 0 0 0 3 0 0 0 0 4,478 0
BERE 1 9K 6 27 27 9 2| 10,025 | 41,085 | 46,066 [ 11,694 | 1,605
KB | RENER 1 1 2 2 ol 2,238 608 | 2,562 1,353 0
KB |FANFER 0 3 0 0 0 0| 6,055 0 0 0
xB |ERINER 2 1 0 0 of 3,902 | 1,218 0 0 0
KB |N\BRNFER 1 2 1 2 o 1,618 2,888 934 670 0
KB |RLWNER 0 2 0 1 0 0| 4,705 0 360 0
KB | TFENER 2 1 0 0 2| 3,079 1,409 0 0 1,548
KB | FEENER 0 3 0 0 0 0| 6,022 0 0 0
KB |EENER 0 1 1 1 0 0| 2,534 2,603 1,125 0
KB |UFRZNER 0 3 0 0 0 0| 5,967 0 0 0
KB RN ER 0 3 0 1 0 0| 4,343 0 958 0
KB |HRENER 0 3 1 0 0 0| 4,604 775 0 0
KB | KENER 0 3 0 0 0 0| 5,160 0 0 0
KB |RNER 0 0 4 0 0 0 0| 6,079 0 0
KB |HEEB/NER 0 0 0 4 0 0 0 0 6,821 0
KB | FEHVNER 0 0 0 3 0 0 0 0 5,496 0
KB |HERALNER 0 0 0 3 0 0 0 0 5,544 0
KB |HEERNER 0 0 0 0 4 0 0 0 0| 8,080
e 1 78K 6 26 9 17 6| 10,837 | 45,511 | 12,954 | 22,326 | 9,629
INEREH 2 6 28R 133 330 195 219 761210,854 |559,476 |295,989 |282,223 |131,081




REDHEEFERTIGURIIL-TDIF—E (FFR)

X5 FIIREDIRE(HR) FRREOEE(M)

X i3 AT V=77 | BUUW-7° | CO°W-0° | DTI-2° | EXCIN-7° | AT W-2° | BI N-7° | CO°I-7° | DI A-0° | ET -7°
THE |SHhER 2 1 0 1 o 3,708 1,007 0 1,220 0
FHE |HILRER 0 0 1 3 0 0 0| 3,017 4,880 0
FiE |REPER 1 1 1 1 of 2,290 2,202 1,711 2,155 0
FiE | TREEPFER 0 0 0 0 4 0 0 0 0| 8,664
T |BKPER 3 1 0 1 0| 4,437 682 0 1,517 0
FiE |[FRERER 0 0 3 2 0 0 0| 5,042 1,578 0
FiE [REPFER 0 0 0 3 0 0 0 0 8,289 0
FRERG 7K 6 3 5 11 4| 10,435 3,892 9,771| 19,638 | 8,664
= HIERER 1 0 1 2 0l 1,285 0| 3,635 2,200 0
= ELHER 2 1 1 1 ol 3,508 758 | 2,067 513 0
= TR 2 1 1 2 0ol 1,769 1,428 | 2,020 768 0
= KEAPZER 0 0 2 1 0 0 0| 6,213 364 0
RXEH 44 5 2 5 6 0 6,562 2,186 | 13,935 3,845 0
1t BEPER 1 1 2 2 ol 2,917 737 | 2,478 1,009 0
1t EEPER 2 0 1 1 1] 5,093 0 829 412 | 1,105
1t KRERPFER 1 2 0 3 0o 1,109| 4,272 0 3,003 0
1t NEFHER 1 1 0 4 0 670 | 2,417 0 4,400 0
1t FEHEERR 0 2 0 2 1 0| 5,792 0 2,580 390
1t JEBERZFER 1 0 2 3 1] 2,465 0| 2,986 1,925 1,141
1t JEFRFERR 0 0 3 1 0 0 0| 6,513 393 0
JEXET 74 6 6 8 16 3| 12,254 | 13,218 | 12,806 | 13,721 | 2,635
7 FLRZER 1 3 1 1 0 1,091 4,963 602 398 0
7 BWHAFER 1 1 1 1 0l 2,405 1,458 | 1,368 517 0
7 BEFRPFER 1 1 0 1 1] 3,161 | 2,154 0 1,025 1,761
[iz] RAEILPFERL 1 3 1 1 0 943 | 5,163 867 365 0
7 IR 0 1 1 2 1 0| 4,391 1,683 1,640 622
[iz] LSRR 0 3 1 1 1 0| 4,533 998 1,124 494
7 THPFER 0 0 3 1 0 0 0| 5,890 393 0
AXE 74 4 12 8 8 3| 7,600 22,662 | 11,407 5461 | 2,877
PR | 2EPER 2 1 1 1 0| 4,436 660 1,593 727 0
A | RERER 1 3 0 1 1 922 | 4,479 0 407 276
At |EERRER 1 1 1 3 0 730 2,672 1,613 2,174 0
i | SERFER 2 1 0 4 o 3,600 2,157 0 3,102 0
PR | EERER 1 1 1 1 0 1,160 2,754 840 1,450 0
i |BEERRER 3 0 0 1 1] 5,119 0 0 874 270
PHEE| 61 (@HHaR<) 10 7 3 11 2| 15,967 | 12,723 | 4,045 8,734 546
h HNEPFER 2 1 0 1 of 3,827 1,877 0 1,115 0
':F' R 1 2 0 2 o 2,808 2,435 0 1,305 0
h B 3 1 0 1 0| 4,582 764 0 383 0
':F' FLDAHRFERL 2 1 0 1 0l 4,365 1,663 0 532 0
FXET| 4 1% 8 5 0 5 0| 15,583 | 6,739 0 3,335 0
BRA0 ML 4 0 1 1 o 4,131 0 1,602 787 0
BRF0 bR 2 1 0 1 o 4,132 720 0 1,117 0
BB |)BHFER 3 1 0 2 0 4,324 1,629 0 1,470 0
BBF0  |MERER 0 1 0 2 0 0 680 0 5,370 0
BRF0  |BOSHRER 0 2 0 2 1 0| 4,492 0 896 393
BRAIXET) 5 K% 9 5 1 8 1] 12,588 | 7,522 1,602 9,640 393
IntE  |EYEHRER 0 0 0 1 2 0 0 0 458 | 6,411
IntE Wi EPER 3 1 0 2 0 4,300 695 0 965 0
It LR 1 3 1 2 1] 1,852 3,994 | 1,028 890 345
IntE  [IEBPER 2 2 1 1 1] 2,706 | 1,851 906 786 | 1,457
Intd  [RERPER 0 0 0 3 0 0 0 0 7,767 0
HFEXET]) 582 6 6 2 9 4| 8,858 | 6,540 1,934 | 10,866 | 8,214
BH PREPER 3 0 1 1 ol 3,374 0| 2,154 399 0
HEH |[=EPER 1 3 0 2 0 685 | 3,648 0 2,383 0
#HE |BHEERER 1 1 0 1 of 2,956 | 2,131 0 2,001 0
#EH |BLEIFPRERDOR 0 0 0 3 0 0 0 0 4,814 0
MEARXGH 41 5 4 1 7 of 7,015 5,779 2,154| 9,597 0
I | —BRER 0 0 0 3 0 0 0 0 7,023 0
| RERAER 1 1 2 2 of 1,329 2,380 3,144 1,384 0




REDHEEFERTIGURIIL-TDIF—E (FFR)

X5 FIIREDIRE(HR) FRREOEE(M)

X i3 AT V=77 | BUUW-7° | CO°W-0° | DTI-2° | EXCIN-7° | AT W-2° | BI N-7° | CO°I-7° | DI A-0° | ET -7°
I IIEFRER 1 3 1 1 0o 1,236 4,275 999 396 0
| IR 0 2 1 1 0 0| 5,069 1,944 398 0
I |\IERER 1 2 0 2 0 2,094 1,864 0 2,099 0
I |BRAIAS AR 1 1 1 2 ol 2,219 918 | 1,689 2,026 0
I |EEPER 1 1 0 2 o 2,842 3,033 0 1,424 0
I [FEDHRER 0 2 0 1 2 0| 5,281 0 398 | 2,787
I |BEHRER 0 0 3 2 0 0 0| 5,257 939 0
I HERERER 0 0 0 3 0 0 0 0 7,435 0
I | ESERER 0 0 0 3 0 0 0 0 7,881 0
PIRE] 1 18R 5 12 8 22 2| 9,720 22,820 | 13,033 | 31,403 | 2,787
B BEPER 1 0 2 2 0l 1,943 0| 3,489 2,687 0
P FBIERER 1 1 1 2 of 1,627 2,128 2,320 1,384 0
B RAEPFER 0 0 0 2 2 0 0 0 1,384 | 7,098
B RBHFER 3 0 1 5 ol 3,115 0 1,288 3,694 0
] FEHPFER 0 0 3 1 0 0 0| 7,011 393 0
P ERIE i 0 0 0 3 0 0 0 0 7,254 0
] TR 0 0 0 3 0 0 0 0 7,560 0
Vs RIS ERAFR 0 0 0 4 1 0 0 0 6,006 424
X 84 5 1 7 22 3| 6,685 2,128 14,108 | 30,362 | 7,522
] AIHRFER 2 2 0 3 0 4,483 2,158 0 1,510 0
3] FRBEREAR 2 1 0 2 0l 4,351 1,463 0 873 0
] TR 1 1 0 3 o 1,307 | 2,404 0 3,886 0
3] RITHRFER 1 4 0 2 o 1,274 5,166 0 1,345 0
3] BEPER 0 0 2 1 3 0 0| 2,399 392 | 5,849
E] BIEHER 1 0 2 2 1] 1,846 0| 3,784 3,006 776
3] B2 2 1 1 1 0| 3,424 1,461 1,129 786 0
X 74 9 9 5 14 4| 16,685 | 12,652 7,312 11,798 | 6,625
ST |SPILFRER 0 0 0 0 3 0 0 0 0| 8,261
ST |SPILERAPERL 2 2 0 2 o 2,960 2,780 0 1,477 0
ST |SPILEEAR AL 0 3 1 1 2 0| 5,575 1,124 407 | 1,635
ST |EERBRA AL 0 3 1 3 1 0| 3,317 610 2,417 | 1,763
ST | RERPER 0 3 0 2 0 0| 6,646 0 928 0
ST |SPLLAEAREERL 0 0 3 1 0 0 0| 5,950 407 0
ST |RERFER 0 0 2 2 0 0 0| 5,390 1,485 0
ST [SERPER 0 0 0 0 6 0 0 0 0| 9,899
SFIREH 8 1R 2 11 7 11 12| 2,960 | 18,318 | 13,074 7,121 | 21,559
i ISBHRER 0 3 0 1 1 0| 6,121 0 827 1,263
i BIRPER 1 2 1 2 1 803 1,696 | 1,838 2,685 1,646
i AEPER 0 0 4 2 0 0 0| 5,914 1,632 0
i ISFAPFER 2 0 0 3 ol 4,770 0 0 3,087 0
i REEPFER 0 3 0 1 0 0| 5,950 0 393 0
i FREERFR 0 2 1 1 0 0| 4,333 1,942 1,067 0
i FERAZER 0 4 0 1 0 0| 6,625 0 904 0
i BEPFER 0 0 3 2 1 0 0| 5,321 2,445 535
i B IKHPERL 0 0 0 5 1 0 0 0 8,162 343
i ERILPFR 0 0 0 4 0 0 0 0 7,248 0
i WELORER 0 0 0 2 2 0 0 0 6,570 1,313
i FHDBPFR 0 0 0 0 7 0 0 0 0| 10,103
fRXET 1 248 3 14 9 24 13| 5,573 24,725 15,015 | 35,021 | 15,201
R | EERER 0 2 0 3 0 0| 6,248 0 1,711 0
ZER |HERER 0 0 0 0 4 0 0 0 0| 10,704
ZR |EHEPER 0 2 0 3 0 0| 5,983 0 1,904 0
BR |EFEPER 0 0 4 1 0 0 0| 8,123 430 0
BR |BRPFER 0 0 3 1 0 0 0| 6,878 538 0
BR |BOMHPER 0 0 0 3 0 0 0 0 6,997 0
BER | EHPER 0 0 0 3 0 0 0 0 5,908 0
ZR |ERPER 0 0 0 3 0 0 0 0 7,337 0
BRXEH 81 0 4 7 17 4 0| 12,230 | 15,001 | 24,826 | 10,704
KB | REFER 2 1 1 2 1] 1,958 | 2,001 1,958 1,554 307
PN = i eI i 0 2 0 2 1 0| 4,499 0 1,638 2,141




REDHEEFERTIGURIIL-TDIF—E (FFR)
X5 FIIREDIRE(HR) FRREOEE(M)

X i3 AT V=77 | BUUW-7° | CO°W-0° | DTI-2° | EXCIN-7° | AT W-2° | BI N-7° | CO°I-7° | DI A-0° | ET -7°
KB |ATRER 0 3 0 2 0 0| 6,942 0 776 0
KB | TFEPER 0 4 0 1 0 0| 7,021 0 403 0
KB |EXREPER 0 0 3 1 0 0 0| 5,566 366 0
KB |HEEPER 0 0 0 2 1 0 0 0 7,889 301
KB |RPER 0 0 0 4 0 0 0 0 7,459 0
RERGH 7 8 2 10 4 14 3| 1,958 | 20,463 | 7,524 20,085 | 2,749
FEREH 11 0 (#Bcha< 85 111 80 205 581140,442 1194,598 |142,721 |245,454 | 90,476




REDEFRITICURIIL-THIT—5 (EFFR. SHE. FEEFR)

X5 FIIREDIRE(HR) FRREOEE(M)

X i3 AT V=77 | BUUW-7° | CO°W-0° | DTI-2° | EXCIN-7° | AT W-2° | BI N-7° | CO°I-7° | DI A-0° | ET -7°
FiE |REEEFR 6 0 0 2 1] 10,172 0 0 933 889
BBA  |EEEEFER 0 0 3 1 0 0 0| 8,758 1,832 0
] HHEEEFR 3 1 0 1 0l 9,720 1,768 0 668 0
1t IEEEER 3 1 1 1 ol 7,867 968 | 1,462 698 0
i REEFR 2 2 1 2 o 2,479 3,759 1,898 1,645 0
| EHEEER 0 3 2 2 0 0| 6,789 1,761 854 0
7 ILHASEFR 0 0 4 1 0 0 0| 9,763 400 0
LR |REEFER 0 0 0 5 0 0 0 0| 11,642 0
7 AAEEEFR 5 0 1 2 0| 11,027 0 340 1,027 0
FiE |REERESEFR 0 0 0 5 0 0 0 0| 15,897 0
KB |EEEEESEFIR 3 2 1 0 0 5,952 3,987 750 0 0
I | TEEEFER 2 4 0 4 0| 5,641 7,206 0 8,483 0
= TEEEFR 6 1 0 2 0| 15,226 | 3,437 0 5,140 0
h AREFFR 0 0 0 3 1 0 0 0| 10,999 990
msrmat 1 442 30 14 13 31 2| 68,083 | 27,914 | 24,731 | 60,217 | 1,879
FiE |EHHE 0 0 1 0 0 0 0 1,012 0 0
= SE—EhitEE 0 0 0 1 0 0 0 0 1,163 0
= RELHFHEE 0 1 1 0 0 0 835 221 0 0
1t RIELhHER 0 2 0 0 0 0 1,066 0 0 0
1t farashHE 0 1 0 0 0 0 627 0 0 0
1t HDAREHEE 0 0 1 0 0 0 0 792 0 0
7 BWHE 0 1 0 1 0 0 457 0 1,413 0
] tERFHHE 0 0 1 0 0 0 0 571 0 0
BBF0 PR EMHHER 0 1 0 0 0 0 737 0 0 0
ntd |SHSHE 0 1 0 0 0 0 565 0 0 0
Il | REHE 1 0 0 0 0 270 0 0 0 0
I |FRFshHE 0 1 0 0 0 0 460 0 0 0
Il | BB HE 0 0 2 0 0 0 0 572 0 0
I (FED R 0 0 1 0 0 0 0 572 0 0
ST | TR 0 1 0 0 0 0 751 0 0 0
i ISFaHHEE 2 0 0 0 0 730 0 0 0 0
i TRERFEMHEE 0 1 0 0 0 0 735 0 0 0
i RiSshitEE 0 0 1 0 0 0 0 826 0 0
i HORHE 0 0 1 0 0 0 0 572 0 0
2R |BELEYHE 0 0 0 0 1 0 0 0 0 849
2R |EESHHERE 0 2 0 0 0 0 1,069 0 0 0
2R |ERIRSHEE 0 0 1 0 0 0 0 572 0 0
KB |tEESHEERE 0 0 0 1 0 0 0 0 818 0
shtEEt) 2 3 3 12 10 3 1] 1,000| 7,302| 5,709 3,394 849
Il | EEEER 0 0 0 4 0 0 0 0 7,546 0
HEH [FEEEFER 0 0 0 0 2 0 0 0 0| 11,166
E] MEEFRIR 1 0 0 0 0l 1,695 0 0 0 0
ST |STILEREER 0 0 0 4 1 0 0 0 5,122 | 3,353
KB | REEEFR 0 0 4 1 0 0 0| 4,468 384 0
e Y% 1 0 4 9 3| 1,695 0| 4,468 13,051 | 14,519




